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¢ Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i)

(ii)

(iii)

(iv)

()

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1 - 5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
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should be adhered to as far as possible.



wus A
SECTION A

*1, 39 AU Yo 1 AW Fas¢ A1 foh <0 § FHieHl § Jhg A & A § I
Bl Tehdl 2 | 1

Name the economic value achievable when attempts are made to
increase resources in the country.

2. W T g @ | 1
Define demand.

3. for vl & g g dfm | 1
Give two examples of fixed costs.

4. SR gfd 1 afem S | 1
Define market supply.

5.  a%q <l qfd ol qUIGAT hIHd JATIER e el SATdT 7 ? 1
When is supply of a good said to be perfectly price inelastic ?

6. ‘5T IcqTed HL I IHE R I]UF Bl 8 ? AT I | 3

Why does the problem of ‘how to produce’ arise ? Explain.

7. AR BYS a&qd & | AH FHwa § qiadd & B Hl AT W I9G hl SR

I | 3
A and B are complementary goods. Explain the effects of change in price
of A on demand for B.
8.  3cUTed o Jcdeh Tl W HHTd NI ohl YHehaid shilolq 3
3T (ZhTSaA) 1| 2|3 4|5 |6
3Ed gfiEdt @ () 12| 11]10| 9| 9 | 10

Calculate marginal cost at each level of output :

Output (units) 1 2 3 4 5 6
Average variable cost () | 12 | 11 | 10 9 9 10
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10.

11.

12.

13.

14.
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e Uk qK] hl HUd T 5 F TG T 6 Ud IHIS Bl 7, Al HA G
(M) T 1,000 ¥ Rt T 1,200 B ATt 8 | $HH! Y <hl hima A H1
qRehe HIFT |

When price of a commodity rises from ¥ 5 to ¥ 6 per unit, total revenue
increases from ¥ 1,000 to ¥ 1,200. Calculate its price elasticity of
supply.

U &g h qfd “Ted” o fohdl g R i e HT |
AYAT
qfd a5k o G5 AR Rgweh o fohegl I SR i =TEAT HINT |

Explain any two causes of “decrease” in supply of a commodity.

OR

Explain any two causes of a rightward shift of supply curve.

oI [T 3 997 Tfdaer o FHIehN o oI 3Tad gAY |

Explain the distinction between the equations of budget line and budget
constraint.

Teh g 1 AT sl hiHd W= () 0-58 | T 20 Ui $oh1$ hiwa T SHehT AT
300 3R & | fopm shima 9T g&ehl wim 10 gfeera seft 2
The price elasticity of demand of a good is () 0-5. At a price of ¥ 20 per

unit its demand is 300 units. At what price will its demand increase by
10 percent ?

TehTTEhR <h! TR €T | TR i e faeivan samsy |

Define monopoly. State the main features of monopoly.

frafefaa stfeel @ Icared =1 a7 TR F1d i 9 W 3ca1es ddaq § 7 |
AT IR o foAw swrer e | (Hama dnra SR Hara o rw fafy s g

i)

3T (3PR) [P FUH (3TH) ()| T @M ()
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62
4



15.

16.

Note :

58/1

From the following data find out the level of output at which the
producer is in equilibrium. Give reasons for your answer. (Use marginal
cost, marginal revenue approach)

Output (units) | Total Revenue () | Total Cost (3)
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62
ST a3hi W1 foRIwareti shi samen HiNT | 6
AT

ITNTTAT forweiwor & g1 IUMIRRT A <hl I1dt <hl SATEAT hHifaT |

Explain the characteristics of indifference curves.

OR

Explain the conditions of consumer’s equilibrium using utility analysis.

a&] ! TR hId o I TdeH hHd § HH W W FWR § gH aT
qiEaHl hl ST HIT, | @ 1 WM HINT | 6

Explain the changes that will take place in the market when market

price of a good is less than its equilibrium price. Use diagram.

HETITIEd 3797 HacT gIRgia Themdal & 1o/g 97 &7 16 & €97 W & |

The following question is for the Blind Candidates only in lieu of
Q. No. 16.

a5 hl SR hIHd o I TdeH hHd § HH g4 W FWR § gH 9T
qREdAl shl AT hIfSTT | Weh ATfeteht sl ST shifra | 6

Explain the changes that will take place in the market when market

price of a good is less than its equilibrium price. Use a schedule.

5 P.T.O.



17.

18.

19.

20.

21.

22.

23.

24.
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SECTION B
eIBTE 1 1Y sy | 1
Give the meaning of depreciation.
T IcaTg <hi R €T | 1
Define domestic product.
S X F1 AN BT 7 ? 1

What is meant by bank rate ?

L FIT BT 8 2 1

What is a tax ?

TSTEd &3 o &l 318Vl ST | 1

Give two examples of revenue expenditure.

arEdfaeh TR Hifgeh Tehal <3fid IcuTe | 9g i | 3

Distinguish between real and nominal gross domestic product.

ol o TET Sl SIS D ohl ST HIWT | 3
HAAAT

‘SRl o Sk o T H hr4d Seh shi YU I TEAT HINT |
Explain the ‘unit of account’ function of money.

OR
Explain the role of central bank as the ‘Bankers’ Bank’.

T 39T T 1 qed HH s=a S9N # QAT 2 | O 1 Hed 91
HIfT | 3

The value of marginal propensity to consume is double the value of
marginal propensity to save. Find the value of multiplier.

6



25. Uk {AIGEAT § JATNIG 4T YA IcUTed § s 3 | 31dsuaedn § g+
a1 g} afadHi < s hif | 3

In an economy planned spending is greater than planned output.
Explain all the changes that will take place in the economy.

26. TAH GgTH @A o AR e IR 1o @l dded | He T | 3

Distinguish between Balance of trade and Balance on current account of
the Balance of Payments account.

27. Tm=faRaa stieel @ “wre ara W e qoa wgfg” 1 aiehad i : 4
(& @l §)
(i)  feshl 400
(i) T | gfEdd (-) 20
(i) WAl JUHT 200
(iv) Tioa e 40
(v) fwfa 50
(vi) HcIB™ 30
AYAT

FIT Tohel TT 3cAIG AN o IATMAh HedAT T Fal Fah & ? I IMW &
gada | g R A |

From the following data calculate “Net value added at factor cost” :

(< in Lakhs)
(1) Sales 400
(i1))  Change in stock (=) 20
(iii)) Intermediate consumption 200
(iv)  Net indirect taxes 40
(v)  Exports 50
(vi)  Depreciation 30

OR

Is gross domestic product a true index of economic welfare of the

people ? Give two reasons in support of your answer.
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28. el dh AT H "R T i ‘S @ g0 Sy FEta et g 2
qaATRT |

How does the central bank control credit creation in the economy

through “Bank Rate” ? Explain.

*29, TIHR HH o TR TG i HH i 7 U Bl 8 | 36 1D FAT i
o3 STH A i $TBT &1 Tehdl & ? THSAET |

Government takes measures to restrict autonomous imports of gold.

Explain the economic values desired to be achieved from this.

30. TP A F1 Ufehe T :

(T Fgl 7)
() 9 fovg @ fae =] s 30
i) Tht erfeam 3uvm = 400
(i) T < ot fwto 100
(iv) %I § giEda 50
(v) HIgHE 20
(vi) ETRRT =W 99 = 200
(vi)) Faa faia 40
(viii) Toe sTcae =X 80
(ix) Tocun # faat e o/ *1 P 10

AT

58/1 8



58/1

o o 0

frefeiRad 2ATrst & Sufthes TAST 3T T IReha iU
(¢ gl 7)

i) Tt & 1w ara | faa

<t 3edrg @ AN 3T 800
(i)  UEE RO WA 50
(i) TEPR § =T TR 70
(iv) fioft ot & Y s=ra 200
(v) frm 40
(vi) dREml gr fou T Sede 30
(vi) Hoag™ 60
(viii) facert @ faa w3 20
(ix) faeer =t fFrae @ s () 10

Calculate national income :

(1)
(i1)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

(< in Crores)

Net current transfer from rest of the world
Private final consumption expenditure

Net domestic capital formation

Change in stock

Depreciation

Government final consumption expenditure
Net exports

Net indirect taxes

Net factor income paid to abroad

OR

30
400
100

50

20
200

40

80

10
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From the following data calculate personal disposable income :

(T in Crores)

) Net domestic product at factor cost

accruing to private sector 800
(ii))  National Debt interest 50
(iii) Current transfers from government 70
(iv)  Savings of private corporate sector 200
(v)  Corporation tax 40
(vi)  Direct taxes paid by households 30
(vii) Depreciation 60
(viii) Net factor income from abroad 20
(ix) Net current transfers to abroad (=) 10

31. (1) Yoy "9 3R Fened 7Y % Wfiw AR TRy |
() uh Adegaren & ar # fou mu frAfafga Atee @ SER 3T &+

T TR h1 TRehai HIIT

(i) A YA = 200
(i) ¥ IUEFT YER = 0.9
GHEREEN = 1000

(a) Explain the distinction between ex-ante measures and ex-post
measures.

(b) From the following data about an economy, calculate its
equilibrium level of income :

(i)  Autonomous consumption = 200
(i1) Marginal propensity to consume = 0-9
(iii) Investment = 1000
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32.
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frtefga § wg hIf -
(31)  ToIE IR AL L
(&) wufies =1er 3R TsRa =Ten

Distinguish between :
(a) Direct tax and Indirect tax

(b)  Primary deficit and Revenue deficit
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